Grading Standards Report
World Geography 3202
June 2005

Pre-Marking Appraisal

The exam was considered to be fair, covering the curriculum outcomes and of reasonable length.
It required students to analyze information from the case studies and provide geographical
knowledge.

Even though the sides of the soil texture graph were not labeled in Item 21, the board felt that it
did not have an effect on the students’ ability to answer the question.

Marking Standard and Consistency

An answer key/ scoring scale was provided to all markers. This was examined and a final
answer key was agreed upon.

50 papers were used to determine the consistency. These papers went through after teachers felt
comfortable with their marking key. These papers went through randomly each of the following
days to be corrected again.

Throughout the marking process, statistical analysis was run to ensure reliability and consistency
in marking.

Commentary on Response

Generally, the board felt that students were not elaborating or explaining their answers but
rather, listing. On the whole, students are using graphical and statistical information in the case
studies to develop their answers much better than in previous years.

Question 61 was poorly done. In many cases students elected to do question 62 instead of 61,
even though they did not do the unit of study that contained the outcome for question 62.

Students seemed to have misinterpreted Question 65. Instead of answering the question, many
students said to “take down the dam”. As well, many are only giving either “Social” or
“Economic” changes and not both as the question asked.

Question 70 refers to internal migration and not external migration. Many students answered
this question referencing external migration.
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PART 11
Section A
Total Value: 8%

Instructions: Complete all questions in this section.

Value
4%

59.

Based on the selections below and your geographical knowledge, explain why
Florida is not affected by environmental risks the same way Haiti is affected.

Any two reasons from the following list (fully explained):

population density

technology - warning systems, evacuation plans

wealth of a country - GNP

response plans - preparedness - help organizations - Red Cross - medical
services - food, shelter & value

infrastructure - building codes - regulations - transportation -
communication - disaster plans

organized government response - financial assistance - disaster funds, etc.

Commentary on Response:

The range of marks given for this question was large.

Common Errors:

Students listed items with no explanations or support.

Students made little or no comparison made between Florida & Haiti.
Students used general knowledge rather than geographical knowledge
(i.e., infrastructure - building codes, GNP, population density, etc.).
Students took information directly from case study.
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Value
4%

60.

Explain two strategies for a sustainable fishery.

For this answer students needed to mention two strategies:

. name each strategy
. describe, and
. explain how it would work, and comment on how the strategy would lead

to a sustainable fishery.

Some examples of strategies:

. fishing gear, banning of certain types of fishing gear such as gil nets or
factory freezer trawlers because they damage stocks and have a negative
impact on the environment and habitat, compared to hook and line which
is more friendly.

. educating fishers on the negative impact of over-fishing and pollution,
extending legal jurisdiction with proper policing, a quota system, the use
of underutilized species, aquaculture, growing fish in a controlled
environment and reducing stress on fish stocks in the world.

Commentary on Response:

Generally this question was not well done. Students listed but did not elaborate
on their answers.

Common Errors:

. Students listed rather than name each strategy and explain each in detail.

. Students seemed to be confused with the word sustainable. They
interpreted the question as meaning good fishery or economically viable
fishery.
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Either:

SECTION B
Do only ONE of the Units in Section B

Unit 6 - Population Distribution and Growth
Unit 7 - Settlement and Urbanization

Unit 6 - Population Distribution and Growth

4%

61.

Choose a country and using the demographic transition model, classify that
country, giving two reasons to support your answer.

Students needed to:

. name a country and classify it according to the stages of the
“Demographic Transition Model”.
. The country could also be classified as having an expansive, stationary or

contractive population pyramid.

The choice of country and classification had to be supported by two reasons.

These reasons could include:

. birth rate, death rate, population growth rates, life expectancy, and
improvements in health care or education levels. Changes in employment
structures could also be mentioned to support development.

. The reasons had to be explained, not simply listed.

Commentary on Response:
This question was very poorly done, even though a broad set of classification
criteria were used, beyond the actual “Demographic Transition Model”. Many

students left the question out or did question #62 (settlement unit) instead.

Common Errors:

. Students often listed reasons with no explanation or gave only one reason
with explanation.

. Students did not seem aware that demography was related to population.

. Students did not know the “Demographic Transition Model”.

. Students related the “Demographic Transition Model” to: employment

structures and classified countries as 1%, 2", or 3" world; to a “Migration
Model” and discussed push and pull factors; to the distribution of an
ecosystem and classified Country X as a temperate rainforest; to
immigration policy and classified Country X as a country that allows

immigration.

. Students did not relate supporting reasons to population and used terms
such as: “Country X is a tertiary country.”

. Students misread the question and instead of classifying the country

according to the “Demographic Transition Model”, they discussed why a
country or its population was in “transition”.
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Unit 7 - Settlement and Urbanization

4%

62.

Urban Centre A is a city in a developed country and Urban Centre B is a city in a
developing country. Both are experiencing different regional growth rates.
Explain two reasons that would account for this difference.

Students had to explain two reasons which accounted for differences in regional
growth rates between developed and developing countries. Answer could include
any two of the following points:

- employment levels - migration patterns: rural to urban
- tax base - cultural preferences

- infrastructure - government support

- health care - transportation / linkage

- education level - wealth of countries

- role of women - birth and death rates (AGR)

Note: Rank size and primacy were used on a limited number of papers to explain
different growth rates.

Commentary on Response:

This question was very poorly done. One of the main reasons was that the
question was done by a large number of students who had not covered the
settlement unit but had covered the population unit and elected to do this question
instead on question #61 on the “Demographic Transition Model.”

Common Errors:

. Students gave only one reason.

. Students listed two reasons but gave no explanation, or gave one reason
for each region but the reason was often the same.

. Students gave two reasons which contradicted each other.

. Students gave general answers that did not contain appropriate geographic
terminology.

. Students misunderstood what was meant by “Regional Growth Rates.”

. Students did not understand the concept of “developed” vs “developing”
countries.

. Students did not discuss why there was differences in regional growth
rates but said both were experiencing growth but for different reasons.

. Students answered as if there were two different questions -- not two

reasons for the same question. Example: A.- has different regional growth
rates because of migration and B.- has different regional growth rates
because of birth rates.

. Students did not specify the region they were talking about when giving
reasons (i.e., they have high birth rates, or, one has a lot of migration).
. Students mentioned birth rates as a reason and then carry out a lengthy

discussion of why birth rates vary between countries or over time.
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PART I, SECTION C

Instructions: Part I, Section C consists of two case studies. Do ALL questions in this
section.

Value
4% 63.  With reference to the case study and your geographical knowledge, describe two
effects chemical fertilizers may have on the Nile ecosystem.

Possible answers include any two of the following effects:

. seeping into ground water, affecting the main drinking water

. affecting organisms, small and large, both in water and on land
. contributing to growth of algae decreasing oxygen levels

. biological amplification

. soil degradation

. destruction of natural fertility balance

Commentary on Response:

Many students overlooked the “chemical fertilizer” focus and wrote about the
effects of pollution generally on ecosystems. Some wrote about how pollution
affected people’s lives; how if fish stocks were destroyed, people would be left
without a livelihood.

Common Errors:

. Students listed without any description.

. Students wrote in generalities, or wrote about the effects of industrial
pollution washing over farmer’s fields affecting the farmers’ profits.

. Students misunderstood the question and wrote about why fertilizers

should be used; not the effects on the ecosystems.
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Value
4%

64.

With reference to the case study and your geographical knowledge, aside from the
chemical fertilizers, describe the short and long-term impacts the Aswan High
Dam has had on the area.

Possible answers include:
. Short term suggestions:
> hydroelectric power, employment in construction, flooding of the
basin, fish migration, lack of housing, river flow (also long term).
. Long term suggestions:
> standard of living, flood control, lost of traditional industries, lost
of sediments at delta, lost of ecosystems, lost/change in cultural
groups and homeland, increase in aqua-diseases, damage farmland,
irrigation etc.

Commentary on Response:
For the most part, students were able to adequately answer this question.

Common Errors:

. Students failed to describe the short and long-term impacts.

. Students listed impacts, but failed to indicate what was short or what was
long term.

. Students just listed impacts without description.

. Students failed to include supports from geographical knowledge acquired

outside of the case study.
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Good 3/4
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Value
6% 65.

“The people of the Nile River Basin do not enjoy a high standard of living.” With

reference to the case study and your geographical knowledge, what social and
economic changes could a member of the International Nile Basin Association

make to improve the situation in these countries?

Students needed to discuss both social and economic changes. Possible answers

include:

Social

- collaboration between countries
in usage of river

- conservation of social/cultural
groups

- conservation of land

- importance of education in the
sustainability of area

- improved medical care

- family planning

- change in status of women

- laws

- migration

Economical

- sharing hydro profits

- increase trade

- foreign aid to increase
infrastructure

- move from primary to secondary

- tourism

- alternate power source

- tax/tariff use of river

- extracting soil

- organic fertilizer

- use river for various economic
segments of activity

Commentary on Response:

Overall, this question was done very poorly.

Common Errors:

Social-Economic

- clean up the Nile

- nation parks to protect animals &
land

- monitor project

- clean up pollution (factions)

- improve drinking water

- environmental impact study

- opening in dam for silt/water

- bonus for fewer children

- gov’t encourage migration

. Students were very general and did not use geographical terminology.

. Students gave one reason with little explanation, often listed and/or with
brief responses.

. Students did not reference graphs, maps, data etc. from the case study.

. Students confused high standard of living and seemed to think a low
standard was preferred that people actually did not enjoy a high standard
of living.

. Students said to remove the dam instead of improving upon it.

Exemplars (Excellent) 6/6
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Good 4/6
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Value
4% 66. Using the case study and your geographical knowledge, explain the climatic
conditions that produce tropical rainforests.

Possible answers include:

. hot/moist conditions year round
. latitude

. tropics

. ocean currents

. wind patterns

. canopy

Commentary on Response:

Generally this question was well done.

Common Errors:

. Students attempted to answer question directly from the case study by

using information that did not apply or, did not refer to any information in
the case study.

. Students did not read the climograph properly.

. Students sometimes appeared to have a weak definition of climate (talked
about characteristics of a rainforest and not climate).

. Students did not mention that heat and moisture were constant year round.
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Value
/—4-\\ 66. Using the case study and your geographical knowledge, explain the climatic
: conditions that produce tropical rainforests.
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Value
4%

67.

Using the case study and your geographical knowledge, describe two strategies
for sustainable management of the world’s forests.

Possible answers include any of the following that could help to sustain our
forests:

. reforestation

. ecological reserves/protected areas/no cut zones

. education on proper uses of resources

. expand silvaculture (selective cutting, replanting, tree farming, etc.) model
forest concept

. recycling

. use of alternative fuels

. better harvesting methods to conserve our forests

. tariffs on lumber and wood products

. building regulations in forested areas

. pollution control

. genetic engineering of stronger tree species

. use of more environmentally friendly machinery and better combating of

forest fires
Commentary on Response:
Overall the question was relatively well done. Most students had a good grasp of
various ways to help sustain our forests and they were able to give descriptions of

these strategies using geographical terms.

Common Errors:

. Students listed two strategies but only gave a description for one of them.

. Students just listed two strategies and never gave any explanation for
them, or did not fully explain their strategies.

. Students failed to interpret information from the case study to answer the

question, or focused totally on rainforests.
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Value
6%

68.

As an environmentalist concerned about the disappearance of the rainforest, you
want to educate foresters, who are currently clear-cutting, about other timber
harvesting techniques. Suggest an alternate method of harvesting and defend the
practice by comparing the two techniques from an environmentalism view.

The answer should give a comparison between clear cutting and another
harvesting technique.
. Clear Cutting - cut all trees in one area
> The following are associated points; safest, cheapest, high yields,
loss of habitat/organisms, quickest, loss of forest biodiversity, soil
loss due to erosion, loss of soil fertility, high sedimentation in
rivers due to runoff, climate change, loss of oxygen (0,), increase
in (C0,), loss of potential medicines, replanting, silvaculture,
wastes trees, especially young growth trees
. Alternative #1 - Selective Cutting: selection of nature trees to be harvested
of specific age and size
> Answer could include the following points: environmentally
friendly, higher sustainability, not as hazardous to the
environment, biodiversity intact, cut only mature trees, not as
wasteful, more expensive, not as safe, helps protect soil from
erosion, lower yields than clear cutting, troublesome to companies
due to road construction, takes more time, creates more jobs in the
long run, protects habitat.

. Alternative #2 - Strip Cutting: cut all trees in an area in alternating strips
> Points to include: keeps homes for animals (habitat), biodiversity
of forest remains intact, prevents soil erosion,
replanting/silvaculture, higher sustainability, lower yields than
clear cutting, and high cost due to possible road construction and
row structure, longer time needed, more expensive

Commentary on Response:
This question was poorly done.

Common Errors:

. Students did not compare clear cutting with an alternate method, or
confused the details of the alternate method.

. Students either stressed the points of clearcutting or the alternate method,
not both as they were required.

. Students failed to explain the two methods in detail. Either, they did not
list enough points or they did not explain the points they listed in enough
detail.

. Students were confused with the term “compare”.

. Students attempted to copy information directly from the case study which

had nothing to do with the specific question.

Exemplars (Excellent) 6/6
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SECTION D
Do only ONE of the Units in Section D

Either: Unit 6 - Population Distribution and Growth
Or
Unit 7 - Settlement and Urbanization

Unit 6 - Population Distribution and Growth

Value

4% 69.  “Mexico City should shut its door to migrants.” With reference to the case study
and your geographical knowledge, suggest two reasons why this policy should or
should not be implemented. Support your answer.

Students needed a clear statement regarding agreement or disagreement with the
statement. Responses should contain geographical terms and references to
examples and statistics (charts) from the case study.

Possible answers include any of the following concepts:

. agree, because of lack of infrastructure over-crowing, pollution and health
issues, crime rate increase due to social problems.
. disagree, because government should work towards building

infrastructure, better way of life in the city, degradation or rural land.
Commentary on Response:

This question was fairly well done. Most students could easily agree or disagree
with the statement and generate a list of agreements or disagreements.

Common Errors:
. Students took both sides.

. Students gave very general information and did not reference geographical
knowledge, or information from the case study.
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Value
6%

70.

The government of Mexico City has decided to take measures to reduce
population growth. Give three reasons why you agree or disagree with this

action.

For agreeing the following reasons were accepted:

demand on health care would decrease as the population decreased; the
doctor patient ratio would improve resulting in better care; the birth rate
and death rates would also decrease.

education would improve with less demand in the education system;
children would receive a better education and workers would become
more skilled.

infrastructure would improve with a smaller population to care for; water
systems, sewage, roads, housing, etc. would develop over time as saved
money could be invested in this manner.

the dependency ratio would decrease as the number of people in the young
and/or old groups decreased; a skilled labour force would be able to
support the extremities and the economy would stabilize.

other acceptable answers would include agreeing based on social,
economic, and/or environmental improvements that were well explained;
availability of resources, population density, land availability were also
accepted.

For disagreeing the following reasons were accepted:

people should have freedom of movement within or between countries as
a basic right or freedom given to them by their country.

human rights allow people to have as many children as they wish and to
live in a country where they choose.

people should be able to improve their standard of living by a means they
choose through migration, family structure, etc. Improved standard of
living would include employment, education, healthcare, etc.

Similar answers to those given in question #69 were accepted as agree reasons for
partial credit with appropriate explanation;

overcrowding - lack of education
pollution (water) - crime rates
pollution (air) - site factors
waste (garbage) - housing

disease - etc.

Commentary on Response:

This question was answered poorly.
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Common Errors:

. Students gave simple responses similar to those listed in question #69.

. Students seemed confused and gave measures to reduce populations which
were incorrect responses.

. Students used general references and failed to use geographic
terminology.
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Unit 7 - Settlement and Urbanization

4%

71.  With reference to the case study and your geographical knowledge, describe the
quality of life indicators in Mexico City.

Possible answers could include any four of the following indicators with
explanations - both social and economic and environmental:

- health care - housing

- infrastructure (water, roads, electricity) - population density
- education - employment

- automobiles - air (water quality)
- number of children per family - social welfare

Commentary on Response:
This question was answered well.

Common Errors:

. Students were too general and did not reference the case study or
geographical knowledge.
. Students listed but did not elaborate.

Exemplars (Excellent) 4/4
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Value

6% 72.  You are a peasant farmer living on the outskirts of Mexico City with the
opportunity to move into the city. Based on your personal quality of life
preference and supporting your responses with three reasons, what would you
decide to do?

Suggested answers in favour of moving/migrating to Mexico City:

. chance of employment

. get a better job (pull factor)

. opportunities for high education attainment

. lack of arable land in the outskirts (push factor)
. access to better health care

Suggested answers in favour of not moving/migrating to Mexico City:

. health risks in a polluted city

. strong traditional family ties

. better air quality

. cost of moving (intervening obstacles)
. shortage of housing in the city

Students were expected to take a stand on either moving to Mexico City or not
moving, and not to support both.

Commentary on Response:
The question was answered well.

Common Errors:

. Students could identify the reasons for moving or not moving to Mexico
City but did not support the reasons or the support was too brief.
. Students took both sides of the question and tried to support the action.
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Exemplars (Good) 5.5/6
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World Geography 3202
Item Analysis
Selected Response (Part I)

Responses
Item Answer A B C D
% % % %
1 C 10.9 4.5 79.7 4.9
2 A 75.3 15.0 2.9 6.5
3 A 94.3 3.2 1.5 0.9
4 A 63.6 28.6 6.4 1.3
5 D 0.8 6.9 0.4 91.7
6 D 21.8 5.1 4.4 68.5
7 C 7.1 22.3 69.7 0.8
8 B 18.5 58.4 7.9 15.2
9 C 27.8 41.5 30.0 0.6
10 C 2.5 10.8 85.5 11
11 B 22.4 56.7 11.7 9.1
12 D 0.4 10.3 0.9 88.3
13 D 3.3 8.7 0.8 87.2
14 A 55.4 22.6 145 7.5
15 C 6.7 70.4 16.5 6.5
16 C 6.6 32.4 56.8 4.0
17 D 2.5 1.5 11 94.9
18 C 9.3 2.5 85.2 3.0
19 A 77.6 3.5 10.2 8.7
20 D 0.8 1.8 24.6 72.9
21 B 17.4 55.9 7.4 19.0
22 C 8.7 0.8 82.7 7.8
23 D 12.7 17.0 15.9 4.1
24 B 0.3 83.4 15.6 0.6
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World Geography 3202
Item Analysis
Selected Response (Part 1)

Responses
Item Answer A B C D
% % % %

25 D 1.4 2.5 16.3 79.7
26 C 5.7 15.7 63.5 15.1
27 D 3.8 4.7 7.9 83.6
28 B 11.3 45.3 32.9 10.3
29 D 3.7 5.7 12.8 77.8
30 B 19.2 42.5 25.7 12.6
31 B 6.0 76.6 3.9 134
32 B 10.5 69.1 16.4 4.0
33 C 6.7 15.0 64.8 134
34 D 11.3 6.0 42.2 40.4
35 A 68.8 8.3 20.1 2.8
36 D 6.0 2.3 8.3 83.4
37 D 4.5 15.6 9.6 70.0
38 C 4.9 15.5 66.2 135
39 D 33 10.9 19.6 66.2
40 B 1.7 84.9 9.2 4.1
41 C 7.0 14.2 7.7 11
42 C 20.8 29.5 46.1 3.5
43 D 2.7 0.7 2.5 93.9
44 C 0.6 0.7 414 57.2
45 C 12.6 12.2 63.8 11.3
46 B 1.9 93.6 2.6 1.7
47 B 7.2 67.8 4.8 20.1
48 B 28.7 29.5 10.3 31.3
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World Geography 3202
Item Analysis
Selected Response (Part 1)

Responses

Item Answer A B C D

% % % %
49 A 86.3 5.1 4.2 4.4
50 A 87.4 9.2 0.5 2.5
51 C 5.1 13.9 62.9 18.1
52 A 85.3 9.7 2.1 2.5
53 B 15.6 54.3 20.6 9.3
54 B 16.8 56.2 5.7 21.1
55 C 2.9 30.7 56.4 10.1
56 B 5.7 81.0 3.1 10.1
S7 D 22.3 9.5 7.8 60.2
58 A 72.2 1.5 9.0 17.3

NOTE: Percentages may not add to 100% due to multiple answers or missing values.
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World Geography 3202
Item Analysis
Constructed Response (Part I1)

Item Students Value Average
59 3368 4 2.3
60 3368 4 2.5
61 2177 4 1.6
62 1191 4 1.7
63 3368 4 2.4
64 3368 4 2.4
65 3368 6 2.6
66 3368 4 2.6
67 3368 4 2.8
68 3368 6 3.1
69 2814 4 2.3
70 2814 6 3.1
71 553 4 2.5
72 553 6 34
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Subtest Scores

Geography 3202
June 2005
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